2020 12 H

HESFEAL

SEEESavI7IY=IN : ND-A MY
Q7 IHUELILLGEBMDIEAN
QBEBESFRAYVI M ETETEDCERN

HE SHBAIEROEEFUSBUHRLSLITET.
FREFERIOTERmZHD, BE<SHLBLHITET .

FNBK #&1507 20198 0=/4EES 377V KO- T 0202118268 (N)DIIL
EFINFIOICELELT, FCRIERMRUHEROSERNZESE TORERLLY, Tariedulco
WT, BITRELEDIEANZSETVREEET.

e, BBESRYVINIHD—EFTECRINGDELLDT, HFEVELBICTRENSETVLEEET,
HESF(CEF, TEAZSENILEIN, AZZRTEFEBDETILOEFEVBLHITET .

ma
B
OF7 7t HVEILGREMDZEA
BELE &R ‘i
R (2021 £ 1 B 25 BERZSHET)
J an
; NBK #2&h450% 2019 .
- mEE e - mE
BER->
H—-3Fyhk AKM p.706 BirmeU
QBHEERAYI M EB~TETIEDCEAN —
R [M6] (M8
OYRAYRDEDNT-Z T 2.0 B o w
sw2 M,\ 'H_ ’/SW1
—_ '_'Q ;\ \-‘_ Y . S
e el = -
(23] . Ll L \Pn}””hb |s:@xz2b0-2
FARE D e ~TECAY ROAY RESHREL TS, I L L
(1F)

e “IEEOVR+AYRES(TIELE,

* W OERIVCMMOTEREETEVER A
* BEESIYVING 12 A 10 HOR)&DETIESNTEHFT .
Mk



APR-AKS#% ik mZERN

T e [M10]-[M27] S (2H/X)
w w
sw2 M JH, o swa sw2 M H, swi
] \ _\ = 2
3 «E-———~——{—————»— }—r _ul T | Su——— (B! SN = o
‘_\\D‘yﬂa"wh L h\ i
K] Lm s :BAZbO—T Al Ovorvhk s:BARrO—T
L e L e
[M33][M45]
sSw2 M ‘};{-W
ol 5 W-—-—-—- ———— = | °
L OwoF vk s BARNO—T
L e
A7 mm
FELEGR
o no BE
RS A7 L L1 |Lm| d | d1 e w H [swi| D |sw2 @
APR-M8-1-AKS M8X1.0 40 |[2.5 |26 |5 6.8 |11 51 4 13 |- 6 14
APR-M10-1-AKS M10X1.0 51 2.3 |- 8 - 14 |65 |5 13 |- 8 30
APR-M12-1-AKS M12X1.0 56 2.3 |- 10 |- 17 |73 6 14 |- 8 45
APR-M14-1-AKS M14X1.0 66 |[3.5 |- 11 |- 20.5(86.5|8 17 |- 10 |75
APR-M14-1.5-AKS M14X1.5 66 |[3.5 |- 11 - 20.5(86.5|8 17 |- 10 |75
APR-M20-1.5-AKS M20X1.5 76 3.5 |- 17 |- 23 |99 |10 (24 |- 14 [140
APR-M25-1.5-AKS M25X1.5 105 |4 - 22 |- 36 141 |12 |30 |- 19 (310
APR-M27-3-AKS M27X3.0 105 |4 - 22 |- 36 141 |12 |32 |- 19 (380
APR-M33-1.5-AKS M33X1.5 125 |5 - 28 |- 45 170 |10 |- 41 24 1645
APR-M45-1.5-AKS M45X1.5 140 |6 - 38 |- 35 |175 |10 |- 60 (36 1280
BI: mm
BHRG
& ;3:_( LiLw|tm| d|di| e | W] H]|swi|] D [sw2 E(i
PSE08-10NIDS-A M8X1.0 40 2.5 |- 6.5 |- 12 |52 |3 11 |- 6 10
PSE10-10NCIDS-A M10X1.0 46.512.5 |- 8.5 |- 145161 |4 13 |- 7 21
PSE12-10NCODS-A M12X1.0 54 (2.5 |- 10.5 |- 17 |71 |5 15 |- 8 34
PSE14-10NCIDS-A M14X1.0 64 |3 - 12 |- 21 185 |6 17 |- 10 |60
PSE14-15NDS-A M14X1.5 64 |3 - 12 |- 21 |85 |6 17 |- 10 |58
PSE20-15NDS-A M20X1.5 74 |3.5 |- 18 |- 25 199 |8 24 |- 14 130
PSE25-15NCIDS-A M25X1.5 107 |4 - 23 |- 38 145 |10 |30 |- 19 1300
PSE27-30NCIDS-A M27X3.0 107 (4 - 23 |- 38 145 [10 |32 |- 19 [340
PSE33-15NCIDS-A M33X1.5 125 |14.5 |- 31 |- 45 |170 |12 (41 |- 24 |640

RPOOIREIITDRBERDET  BETATCLDTEDHERHDEEA.



APR-AKKi&H RN

] (M10)-[M27] & (2542
w w
sw2 M H, o sw sw2 M JH Sw1
N -
3= ] =
K] Pn?gj-‘yh s :BAZbO—7 _rlg A\D'yﬂf-yh s:BAZRO—T
L e L e
[M33][M45]
w
Sw2 M ‘t{-
ol 5 ff-—-—-—- —_——— EEE | o]
KN di
L OvoFwh s:BAZbO—Z
e
BAQ: mm
B
o o L
LRES A7 L L1 | m| d | d1 e W H |swl| D |sw2 @
APR-M8-1-AKK M8X1.0 40 2.5 |26 |6.6 [6.8 |12 52 |4 13 |- 6 14
APR-M10-1-AKK M10X1.0 51 2.3 |- 8 - 14 |65 |5 13 |- 8 30
APR-M12-1-AKK M12X1.0 56 2.3 |- 10 - 17 |73 |6 14 |- 8 45
APR-M14-1-AKK M14X1.0 66 |[3.5 |- 11 |- 20.586.5(8 17 |- 10 |75
APR-M14-1.5-AKK M14X1.5 66 |[3.5 |- 11 - 20.586.5(8 17 |- 10 75
APR-M20-1.5-AKK M20X1.5 76 3.5 |- 17 |- 23 |99 [10 |24 |- 14 [140
APR-M25-1.5-AKK M25X1.5 105 |4 - 22 - 36 141 |12 |30 |- 19 305
APR-M27-3-AKK M27X3.0 105 |4 - 22 |- 36 (141 [12 |32 |- 19 [375
APR-M33-1.5-AKK M33X1.5 125 |5 - 28 |- 45 170 |10 |- 41 24 |635
APR-M45-1.5-AKK M45X1.5 140 |6 - 38 |- 35 [175 |10 |- 60 (36 [1260
Bfi7: mm
BikG
BE J‘}L;\ Ll |tm| d|di| e | W]| H]|swi|] D [sw2 E(j
PSE08-10NIDK-A M8X1.0 40 2.5 |- 6.5 |- 12 |52 |3 11 |- 6 10
PSE10-10NCIDK-A M10X1.0 46.512.5 |- 8.5 |- 145161 |4 13 |- 7 21
PSE12-10NCDK-A M12X1.0 54 (2.5 |- 10.5|- 17 |71 |5 15 |- 8 33
PSE14-10NCIDK-A M14X1.0 64 |3 - 12 |- 21 |85 |6 17 |- 10 |59
PSE14-15NDK-A M14X1.5 64 |3 - 12 |- 21 |85 |[6 17 |- 10 |57
PSE20-15NCIDK-A M20X1.5 74 |3.5 |- 18 |- 25 199 |8 24 |- 14 1130
PSE25-15NCIDK-A M25X1.5 107 |4 - 23 |- 38 145 |10 |30 |- 19 1300
PSE27-30NCIDK-A M27X3.0 107 |4 - 23 |- 38 |145 (10 |32 |- 19 [340
PSE33-15NCIDK-A M33X1.5 125 14.5 |- 31 |- 45 |170 |12 |41 |- 24 |640

RPOOIREIITDRBERDET  BETATCLDTEDHERHDEEA.



APS-AKS#GZEA

(~HE]
(M6|(M8] &HkEE (M6) [M10]-[M27]  7%#ikf (M8-M33)
w
sw2 M GJHy o swr sw2 | M JH,o osw
L =
= «E-—-—»—a—-—-—»— .?—} _u[ 5| W —e——- % Ee—— =l o
L A\Pn?”'/h s :BAZRO—7 _J_g _\Dw,% s:@AZNO-2
L e L e
[M33][M45]
w
sSw2 M j-
ol 5 W-—-—-—- ———— = | °
b & S s BARRO—7
e
BI: mm
B
o no BHE
e A7 L|{Ll|{Lm]|] d]|dl] e W | H |swl| D |sw2 @
APS-M6-0.5-AKS M6X0.5 30 |1.8 (18 |3.2 [5.4 |9.5 [39.5]3.2 |10 |- 4.5 |6
APS-M8-1-AKS M8X1.0 40 2.5 |26 |5 6.8 |11 |51 |4 13 |- 6 13
APS-M10-1-AKS M10X1.0 51 2.3 |- 8 - 14 164.8|5 13 |- 8 26
APS-M12-1-AKS M12X1.0 56 (2.3 |- 10 |- 17 173 |6 14 |- 8 40
APS-M14-1.5-AKS M14X1.5 66 (3.5 |- 11 |- 20.5186.5 (8 17 |- 10 |70
APS-M14-1-AKS M14X1.0 66 [3.5 |- 11 |- 20.5186.5 |8 17 |- 10 |70
APS-M20-1.5-AKS M20X1.5 76 |4 - 17 |- 23 199 |10 |24 |- 14 [145
APS-M20-1.5L-AKS M20X1.5 97 |4 - 17 |- 38 [135 [10 |24 |- 14 1190
APS-M25-1.5-AKS M25X1.5 105 |4 - 22 |- 36 [141 |12 |30 |- 19 [325
APS-M25-1.51-AKS M25X1.5 125 |4 - 22 |- 51 [176 |12 |30 |- 19 1390
APS-M27-3-AKS M27X3.0 105 |4 - 22 |- 36 |141 |12 |32 |- 19 [395
APS-M33-1.5-AKS M33X1.5 125 |5 - 28 |- 45 1170 |10 |- 41 |24 |695
APS-M33-1.5L-AKS M33X1.5 144 |5 - 28 |- 65 |209 |10 |- 41 |24 |795
APS-M45-1.5-AKS M45X1.5 140 |6 - 38 |- 35 (175 |10 |- 60 |36 1380
APS-M45-1.5L-AKS M45X1.5 195 |6 - 38 |- 60 |255 [10 |- 60 |36 (1830
BA{i: mm
BHRGR
e ﬁ; L{L|tm| d|di| e | W]| H]|[swl| D |sw2 EEE;
PMEQO6-05N[C1DS-A M6X0.5 31 |2 19 |5 5.4 |9 40 2.5 |8 - 5 6
PHEO08-10N[IDS-A M8X1.0 41 2.5 |- 6.5 |- 12 |53 |3 11 |- 6 10
PHE10-10N[IDS-A M10X1.0 48 2.5 |- 8.5 |- 14.5162.5 |4 13 |- 7 22
PHE12-10N[IDS-A M12X1.0 56 (2.5 |- 10.5 |- 17 |73 |5 15 |- 8 35
PHE14-10NDS-A M14X1.0 63 |3 - 12 |- 21 |84 |6 17 |- 10 |60
PHE14-15N[1DS-A M14X1.5 63 |3 - 12 |- 21 184 |6 17 |- 10 |58
PHE20-15N1DS-A M20X1.5 74 |3.5 |- 18 |- 25 199 |8 24 |- 14 130
PHE20-15L[IDS-A M20X1.5 97 3.5 |- 18 |- 35 131 |8 24 |- 14 170
PHE25-15NIDS-A M25X1.5 107 |4 - 23 |- 38 145 [10 |30 |- 19 |310
PHE25-15LIDS-A M25X1.5 142 |4 - 23 |- 53 182 [10 |30 |- 19 1400
PHE27-30N[1DS-A M27X3.0 107 |4 - 23 |- 38 145 |10 |32 |- 19 1340
PHE33-15N1DS-A M33X1.5 126 |4.5 |- 31 |- 45 171 |12 |41 |- 24 1660
PHE33-15LCIDS-A M33X1.5 171 |14.5 31 65 236 |12 |41 |- 24 |860
KHOOBREFITDEBERDET, ﬁf@'fﬂg&%‘bﬁo)’fﬁ (i&bbit*/uo




APS-AKK#&#mEA

(~T3&]
ik (M6) [M10]-[M27]  gfikfa (M8-M33)
w w
sw2 M H, o sw sw2 M JH Sw1
BN -
H-—4-1t}-—=F 8 W-——— ———— =t -
OvyZFvyhk ,L A\ .
K] Lm s :BAZbO—7 Jdlb OvoZrvh s:BAZRO—T
L e L e
[M33][M45]
w
Sw2 M ‘t{-
ol 5 ff-—-—-—- —_——— EEE | o]
1 BN T
b OvZF vk s:BAZ-O—7
e
Q7 mm
B
RS o L|Ll|Lm| d]dl]| e W H |swl| D |sw2 A&
i H4Z (@)
APS-M6-0.5-AKK M6X0.5 30 1.8 |18 4.8 [5.4 |10.5]40.5|3.2 |10 |- 4.5 |6
APS-M8-1-AKK M8X1.0 40 |2.5 |26 [6.6 [6.8 |12 [52 |4 13 |- 6 13
APS-M10-1-AKK M10X1.0 51 2.3 |- 8 - 14 |65 |5 13 |- 8 26
APS-M12-1-AKK M12X1.0 56 2.3 |- 10 |- 17 |73 |6 14 |- 8 40
APS-M14-1.5-AKK M14X1.5 66 |3.5 |- 11 - 20.5(86.5 |8 17 |- 10 |70
APS-M14-1-AKK M14X1.0 66 |[3.5 |- 11 |- 20.586.5(8 17 |- 10 |70
APS-M20-1.5-AKK M20X1.5 76 |4 - 17 |- 23 |99 10 |24 |- 14 145
APS-M20-1.5L-AKK M20X1.5 97 |4 - 17 |- 38 [135 [10 |24 |- 14 [190
APS-M25-1.5-AKK M25X1.5 105 |4 - 22 |- 36 141 |12 |30 |- 19 1320
APS-M25-1.5L-AKK M25X1.5 125 |4 - 22 |- 51 |176 |12 |30 |- 19 [385
APS-M27-3-AKK M27X3.0 105 |4 - 22 |- 36 141 |12 |32 |- 19 1390
APS-M33-1.5-AKK M33X1.5 125 |5 - 28 |- 45 (170 (10 |- 41 (24 [685
APS-M33-1.5L-AKK M33X1.5 144 |5 - 28 |- 65 (209 |10 |- 41 |24 |785
APS-M45-1.5-AKK M45X1.5 140 |6 - 38 |- 35 175 |10 |- 60 (36 1360
APS-M45-1.5L-AKK M45X1.5 195 |6 - 38 |- 60 (255 |10 |- 60 [36 1810
BA{i7: mm
Bk
25 f{lj_( LiLt|tm]| d|di| e | W]| H]|[swil|] D |sw2 %j
PHEO8-10NJIDK-A M8X1.0 41 2.5 |- 6.5 |- 12 |53 |3 11 - 6 10
PHE10-10NCJDK-A M10X1.0 48 12.5 |- 8.5 |- 14.5162.5 |4 13 |- 7 22
PHE12-10NCIDK-A M12X1.0 56 |2.5 |- 10.5 |- 17 |73 |5 15 |- 8 34
PHE14-10NCIDK-A M14X1.0 63 |3 - 12 |- 21 |84 |6 17 |- 10 |59
PHE14-15NIDK-A M14X1.5 63 |3 - 12 |- 21 |84 |6 17 |- 10 |57
PHE20-15NCIDK-A M20X1.5 74 |3.5 |- 18 |- 25 199 |8 24 |- 14 130
PHE20-15LCIDK-A M20X1.5 97 |3.5 |- 18 |- 35 131 |8 24 |- 14 170
PHE25-15NCIDK-A M25X1.5 107 |4 - 23 |- 38 145 |10 |30 |- 19 (310
PHE25-15LJDK-A M25X1.5 142 |4 - 23 |- 53 |195 |10 |30 |- 19 (400
PHE27-30NCIDK-A M27X3.0 107 |4 - 23 |- 38 145 |10 (32 |- 19 (340
PHE33-15NCIDK-A M33X1.5 126 4.5 |- 31 - 45 171 |12 |41 - 24 |660
PHE33-15LC0DK-A M33X1.5 171 (4.5 31 65 236 |12 |41 - 24 860

FHOOGREILTOELSERDET th’i*fj’(utﬁ_fﬁo)ffﬁlgliaibit%o



